Subject: Still getting trouble with ROI's
Posted by Nuno Oliveira on Mon, 02 Feb 2004 14:52:15 GMT

View Forum Message <> Reply to Message

Can someone tell me why cw_defroi returns the coordinates of the components
of the roi together.? When | start to use the roi related objects they don't
understand this variable. When | call any of these objects | need to pass

the coordinates SEPARATE. If | use cw_defroi | have to separate the
coordinates returned by cw_defroi before use the objects? This makes any
sense?
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